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6czﬁSECTION A: AOMARKS
o
Answer all questionsin theéq}i%\c&e provided.
<

\
1. Explain thefollo@g input/ output terms as used in computer systems. Give an

examplefor.\e}iyt\:h (1 mark)
N
(a) Reag@«6
N
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\k.@ ...................................................................................................................
@ (b) Write (1 mark)
2
i i e e aae e e a e e e e es e e e es e aee s e es s s e e es st e aes s e aessatassatssus et aranunnnn
\\
QO& .....................................................................................................................
2. (a) What isvirtual reality? (Imark)
(b) State four components of sensory devicesused in virtual reality. (2marks)
3. (@What ismeant by Data Communication? (2 mark)
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4. Mr. Otiengxa French teacher used speech method to store students oral answers to an
%
R
exam(b@to a computer
2" (@) What isa speech input? (1 mark)

%

e e,
NA
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Q\Q’ (b) State one disadvantages of using this method of data input (1 mark)

5. Describethreeelectrical safety precaution rulesthat should be observed in a

computer room. (3marks)

6. Givethename of CPU registersused to perform the following:
a) Storethe address of the next instruction to be executed (Imarks)
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7. Kimani wasinstructed by @%teacher, whiletyping a Microsoft Word document, to
9

N
replaceall the occur[\qﬁg’es of theword Mswith Microsoft. Highlight the stepsto do this

& (3 marks)

Q
{-6% List two examples of third generation languages and state their most appropriate
application. (2marks)

9. Describethefollowing terms

a) Web portal (Imark)
b) Blog (Imark)
10. (a)Definethe term program documentation (Imark)

Your school has decided to replaceitslibrary control system. The current system was
implemented ten years ago but hasrestricted reporting facilities and has a text-based
interface. The school intendsto replace the old system with a new computerized system,
and isnow considering both ‘Parallel running” and “direct changeover”.

(b) Briefly explain theterms parallel running and direct changeover as used in system

implementation. (2marks)
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{-Cﬁ(/l' Describe the following types of database models as used in database design:
2
Q\Q’ Hierarchical database: (2marks)
2
<
Qe
&
Network database: (2marks)

12. Explain one reason why parallel cables arefaster than serial cablesin data

transmission. (2marks)

(2marks)
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15. What isthgd?fference between object linking and embedding? (2marks)
e
______ ettt et ettt e e oo e
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2
QKQ .....................................................................................................................
@ SECTION B (60MKS)
N Answer question 16 iscompulsory and any other three questions from this section.
o
\ 16. (a)Explain three error detecting methodsin program development (8marks)

(b)The gross salary of employees of Mutson Chemist is based on the Basic and
additional benefits. Employees with more than 10 year’s experience get an additional

pay of 10% of their basic salary. Bonuses are given as per employees’ sales of the

month as;
>200,000 15%
100,000 - 200,000 10%

Below 100,000 5%
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Draw aflowchart for the progg)a& that will calculate Gross salary and output each
W
employee’s Basic %\Iary,\gﬁ%sssalary and all ben€fits. (15 marks)
N
)
A\
%
&
N\ Q(a'
2
Q/Q
&

17. (i) list three advantages of using computer Aided Design
(3marks)
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(i) Simulation@%ne of the application areas of computers. What is meant by theterm

simulation?@
& (Imark)
>
&Q ..........................................................................................................
)
Q/.Q ................................................................................................................
&
e (b) Explain three advantages of computer based simulation. (6marks)
Q
<<&
\QJ .....................................................................................................................
\\

QO& .....................................................................................................................

(iii) Differentiate between a softwar e engineer and a computer engineer (2marks)

(v) Namethreeresponsibilitiesthat are carried out by aweb administrator  (3marks)

18. Study the wor ksheet below and answer the questionsthat follow:
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2 & AMSONS AGENCIES
LN
N\
3 FRODUCT | REGION1 | REGION2 | REGION3 | REGION 4 | TOTAL
\'o
<
Q%Q Sale
4 Q@%‘ Rexona 3400 3,700 4000 4100
<
\gﬁ Lifebuoy 2500 2600 2100 2500
<
<<&Q’ 6 Omo 6000 6100 6300 1600
<
J
Ny 7 Ushindi 1200 1500 1400 6400
N
Q
< 8 Carmel 7000 6900 7200 8000
9 Total
10 Maximum
11 Average

(@ (i)Writefunctionsthat can be entered to get total, maximum, and aver age of

each region. (3marks)

i) Writedown thefunction that returnsthe number of salesin thefour regions
whose valueisgreater than or equal to 2000. (2 mark)

iii) Thefunction = sum (B4:E4) isentered at F5 and then copied to F8. Write down
thefunction asit appearsin the destination cell. (2marks)
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(b) ()What isachartwizardig@readsheets’? (Imark)
él_o
............................... BT PP TIp
\\ ..........................................................................................
(c) Statetheugedf:
%
i) A lifiegraph (1mark)
>
\Q

...Q,&e ..............................................................................................................

{-@ ii) A piechart (1mark)

2
Q\e .....................................................................................................................
@
Y (d) List four formatting techniques used in ms excel (2 marks)

(e) Explain thefollowing termsasused in spreadshests.

i) Count () (1mark)
..i.i.) . Round ( ) ................................................................................ (1mark) ........
.i.i.i.) . Aver age () .............................................................................. (1mark) ........
IV) . NOW ( ) ................................................................................... (1mark) ........

19. a) Writethefollowing acronymsin full

i) EBCDIC (1 mark)
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i) ASCII \\e"’ (1 mark)
e e e
o
i) COBOL (2 mark)
Q}%
......... Q%Q
b) Eagbblain why computers use binary numbersin data representation (2 marks)
%
e
2
Q\e .....................................................................................................................
@ -
Y c) convert the following valuesto the stated number system
<
o
3 i) 20.246to decimal (2marks)

i) 7.125;0to binary (2marks)
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(d) Perform thefollowing Biga?y arithmetic:
o

A
i) 11100111%\1;%5’01011102

N
)
A\
%
N
2
R
2" i) 10101, — 110,
(oQ
&
2
&7
2
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3 (e) Use Two’s compliment to subtract 101 from 1000:

(f) Convert 57.4iptoits Octal equivalent

(Imark)

(Imark)

(2marks)

(2marks)
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20. (a)WhatlsatransmlssonQBdla? (Imark)
Q)l-(’
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(b)ListtW\QR/pesof transmission media (2marks)

2
B
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@‘o (c) Distinguish between a Hub and a switch. (2marks)
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(d)With help of awell labelled diagram, describe thefibre optic cable  (5marks)

(e) List three differences between WAN and LAN (3 marks)
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